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Abstract

In this paper, we study the utility maximization problem with different utility functions and
stochastic factor models. There are four methods to solve the utility maximization problem, such
as primal HJB, dual HJB, primal FBSDE and dual FBSDE. Our goal in this paper is to prove that
these four methods have the exact same solutions for the utility maximization problem. We first
solve the utility maximization problem under geometric brownian motion assumption for power
utility function and non-HARA utility function. Closed formula solutions can be found showing
that we can get the exact same solution by these methods. Then we study this problem under
stochastic factor models. We can not get the closed formula solution in this case. So we use
numerical method to plot all the wealth processes from these four methods and compare them.
We check results with different time step size and calculate the mean square error to compare all
methods precisely. We conclude that we can have the same solution by these four methods.
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Chapter 1

Introduction

The utility maximization is a basic problem in mathematical finance and the axiomatic foundation
of it can be tracked back to Von Neumann and Morgenstern[24]. The goal of this problem is to
maximize the agent’s expected utility of the wealth at the end of time period by constructing
investment strategy in the market. Utility maximization problem is essentially optimal investment
problem. The trading strategies include short selling, borrowing and other restrictions. See [12]
for details.

Stochastic theory has a significant influence on solving financial problems. In 1951, Kiyosi Ito
established the theory of stochastic differential equation of Brownian motion in [11], which opened
a new way to study Markov process. J.L Doob published Stochastic processes [7] in 1953, where
the basic theory of stochastic processes were systematically defined. With the development of
stochastic theory and dynamic portfolio optimization, Merton published two landmark papers
[19][20] about Hamilton-Jacobi-Bellman equation in a Markovian context that introduced optimal
portfolio selection problem in continuous time. By stochastic control methods, Merton got the
optimal investment strategies and a closed formula for the value function. Pliska[23], Cox and
Huang[4][5], Karatzas et al.[13] had further researches and solved the optimal investment problem
in a non-Markov setting.

By solving the primal HJB equation, we can get the solution of utility maximization problem.
However, it is hard to solve the HJB equation for most utility functions. That led to emergence
of dual control method which provides an powerful tool to solve the utility maximization prob-
lem. Xu and Shreve[25] firstly employed the stochastic duality theory of Bismut[2] to study the
no-short-selling constrained optimal investment problem. The dual approach to the utility maxi-
mization problem was initial formulated in a complete market by Pliska[23], Cox and Huang[4] and
Karatzas, Lehoczky and Shreve[13]. Karatzas et al.[14], He and Pearson[9][10] and Kramkov and
Schachermayer[15][16] then used this method in the incomplete market. Cvitani¢ and Karatzas[6)
considered the case of constrained strategies. This approach is to convert constrained problem into
a family of unconstrained problems and find a optimal one. Dual problem can be transformed into
primal problem by derivation. However, it is sometimes difficult to obtain the corresponding dual
problem. Labbé and Heunis[17] introduced a simply method to construct the corresponding dual
problem. Although dual problem are often easier to solve than primal method, sometimes we still
can’t find the closed formula solution for dual problem. In this case, numerical method should be
used to solve primal problem and dual problem.

Bismut[3] introduced backward stochastic differential equations(BSDEs) in the linear case in 1976.
Pardoux and Peng studied the general nonlinear case in the paper [21]. Their connections with
mathematical finance, stochastic control and partial differential equations make BSDEs popular.
El Karoui, Peng and Quenez published the first paper[8] about applications of BSDEs in math-
ematical finance. BSDEs provides a probabilistic representation for nonlinear PDEs, extending
the Feymann-Kac formula for linear PDEs. Thus this representation creates a possibility to use
numerical method to solve nonlinear PDEs. @ksendal and Sulem[26] proved that the relationship
between optimal primal wealth processes, optimal strategy processes and optimal adjoint processes
of dual problem obtained from forward and backward stochastic differential equations(FBSDEs).



Li and Zheng[18] constructed the necessary and sufficient conditions for both the primal and dual
problems in terms of forward and backward stochastic differential equations. By this formula, we
can get the results of primal problem by solving the corresponding dual FBSDEs and vice versa.

In this paper, we study the utility maximization problem with different utility function. Four
methods are used to solve this problem such as primal HJB, dual HJB, primal FBSDEs and dual
FBSDEs. The goal of this paper is to prove we can get the exact same solution for this problem
by four methods. The market model setting and theorems used in this paper are mainly referred
to the paper written by Li and Zheng[18] and this paper is mainly divided into two parts. In
the first part, we set up the market model. Here we assume that market has only two assets,
one risk-free asset and one risky asset satisfying geometric Brownian motion(GBM). We solve
the utility maximization problem with all coefficients are constant and control set K = R. We
first use Dynamic Programming Principle to get the HJB equation and solve the primal problem.
One example about power utility function is given to show that the primal HJB method works.
However, primal HJB method has some shortcomings in solving complex utility functions such as
non-HARA utility function. Then we construct the dual problem and find the dual process. We
can find that the dual problem can be converted into the primal problem. Then necessary and
sufficient conditions theorems and dynamic relations of primal and dual problems are introduced.
We compare results of dual HJB and dual FBSDEs for power utility function and non-HARA utiliy
function to show that two methods have the exact same solutions. In the second part, we try to
solve the utility maximization under the stochastic factor model and control set is still the whole
space. We divide the second part into three subsections. In the first subsection, the drift term
of risky asset price is replaced by CIR a affine process. We have semi-linear PDEs from primal
method and dual method which can be represented by BSDEs [22]. Further research on how to
solve the BSDEs in this problem can be discussed in the future. The only difference between the
second subsection and the first subsection is the utility function. We use log utility function in
this subsection. The value functions can be solved from primal HJB and dual HJB equations by
ansatzs. Primal FBSDEs and dual FBSDEs approaches can be solved numerically. We plot sam-
ple paths of optimal wealth processes and optimal control processes for four methods to compare
the solution of each method. In addition, we compute the mean squared errors for each method.
We do the same work in the third subsection as we do in the second subsection. The only differ-
ence is that the drift term of risky asset price goes from H to v/H and we consider two special cases.

The rest of the paper is organized as follows. Chapter 2 and Chapter 3 correspond to the first part
and the second part mentioned above. Chapter 4 concludes the paper.



Chapter 2

Unconstrained Utility
Maximization Problem under
Geometric Brownian Motion

2.1 Market Model Set up

Let W = (W})o<i<r be a standard 1-dimension Brownian motion on a complete filtered probability
space (Q, F,F,P) where F = (F;),t € [0,T] is the natural filtration induced by W, and T > 0 is a
fixed termial time.

We denote by P(0, T; RY) the set of all R¥-valued progressively measurable processes on [0, T] x £,
by S2(0, T; RY) the set of processes Y in P(0,7;RY) such that

E[ sup |V;|?dt] < oo
0<t<T

and by H2(0,T;RY) the set of processes Z in P(0,T;RM) such that
T
E[/ |Z4|2dt] < oo
0

Assume market has two assets, risk-free asset(saving account) Sy, risky asset S, satisfying SDE:

dSo(t) = rSo(t)dt
{ dS(t) = S(t)(pdt + odW (t)) (2.1.1)

with Sp(0) = 1,5(0) = S > 0, where r, u, o are all constant, W is a standard Brownian motion.
We also assume that o > 0.

Assume m; is an Fy—adapted process, j;)T m2dt < oo a.s. and m; is proportional portfolio pro-
cess. Define the set of admissible portfolio strategies by

A={r e H*(0,T;R):n(t) e K=R for t€[0,7] ae.}

Given any 7 € A, we define X7 is the investor’s total wealth at time t. Then m X[ is amount of
money invested in S and (1 — ) X[ is amount of money in saving account Sy. The wealth process
X™ satisfies SDE:

dX7(t) = X"(@)[(r + 7(t)ol)dt + w(t)cdW (t)] (2.1.2)

with initial wealth X™(0) = z, where 6 = “—= is the market price of risk.

Let U : Ry £ [0,00) — R be a given utility function that is twice continuously differentiable,
strictly increasing, strictly concave and satisfy the following conditions:

U(0) = lim U(z) > —o0, lim U (2) = 00, lim U (z) =0

Tr—r00



We set U(z) = —oo if z < 0.

Define the value function of the expected utility maximization problem as

V& sggE[U(X”(T))] (2.1.3)
V(t,x) = EEBE[U(X”(T))\X”(t) = z] (2.1.4)

To avoid trivialities, we assume that

—o00o <V <40

2.2 Dynamic Programming Principle and Primal HJB Method

From Bellman[1], we have the following theorem.

Theorem 2.1.1 (Dynamic Programming Principle) For any h > 0

V(t,x) = sup E[V(t + h, X[ },)| X[ = 2] (2.2.1)
TEA

This theorem has a significant influence on solving stochastic control problem. Assume V € C1:2.
By Ito’s formula, we have

. T OV(s, XT) V(s XT) n  1OPV(8,XT) o n o
t+h 2
B ov. ov, . " 10°V 5 .9 o
=V(tx)+ /t (g + %(TXS + 7. X 00) + 5 92 i XT20%)ds
t+h
— s X 2.2.2
+/t Pl sodWs ( )

Substituting (2.2.2) to DPP(2.2.1), then canceling V (¢, z), we can get:

Hhovo oV, L i 1O?V 4 19 5 i

divide by h > 0 on both sides of the equation(2.2.3) and then let » — 0. By Mean Value Theorem,
s —t, XI — X[ =x, we can get

oV (t,x) ov OV 1 45 45 0V,
9 +rz o +81;1Tp(7m9cr o + 5T T 0 o )=0 (2.2.4)

called Hamilton-Jacobi-Bellman(HJB) equation. Terminal condition is given by

VAT, z) = sup BIUX™(T)|X™(T) = a] = U(x)

Value function V' (¢, z) satisfies HIB equation, thus we need to solve PDE(2.2.4). If V is strictly
concave in z, then V,; < 0. The maximum point 7* in (2.2.4) satisfies

200V, + 7*220%V,, = 0

which gives

0V,
= —_—— 2.2.5
ﬂ—t,:b o ng,;L ( )
Substituting 7* into HJB and simplifying the expression, we get
1, V2
Vi +raVy, — 6> =0 (2.2.6)

2 Vi



with terminal condition V (T, x) = U(z). (2.2.6) is hard to solve because it is a nonlinear PDE. We
need to guess an ansatz for it. Here is an example where we can solve the primal HJB equation
directly to get the solution of utility maximization problem.

Example 2.2.1(power utility function) U is a power utility function defined by

U(m)z%mﬂ, z € (0,00)

where 8 € (0,1) is a constant. In this case, we know that V(¢,z) = U(z)f(t). Substituting it into
(2.2.6), we can get

1 40f _ 1 x2P-2f2
— B B=1lg_—p2_ =~ J
Baz N +rzx’ T f 29 T 0
Simplifying this equation to get a ODE for f
1 62
—fiArf— =0
5ft f 305 1)f
with the terminal condition f(T) = 1. By solving this ODE, we can get f
92
t)=exp(B(r+ ————)(T —t
(0 = exp(B(r + 57—55)(T =)

So the value function V (¢, z) is

2

V(t,x) = Ulx) f(t) = Ulx) exp(B(r + NT =)

21-75)
The maximum of the Hamiltonian in the HJB equation is achieved at
0 V, 0

T (t,x) =

o2V (1—f)o

Substituting 7* (¢, ) = ﬁ into the wealth equation we get the wealth process X7 satisfying a
linear SDE

o 6 0
dXt = Xt <(7‘ —+ 1_ ﬁ)dt -+ 1—,8th>

with initial wealth X™(0) =z

The optimal wealth process is given by

. — 62 0
X[ =zexp((r+ (21(1 _2%))2 )+ 175

In this example, the utility function is power utility so we can solve the HIB PDE easily, which
means primal HJB method works. However, if U is not power(or log) such as non-HARA utility
function, it is difficult to solve the HJB PDE. In next section, we will introduce Dual Control
Method to solve Utility Maximization problem.

W)

2.3 Dual problem and Dual HJB Method
First of all, we define the dual function of U as

Uly) = sup(U («) — ay) (2.3.1)

If y < 0, we can easily have U (y) =00 . U is twice continuously differentiable, strictly decreasing
and strictly convex on (0, 00).

The dual process Y is a strictly positive and has the following semi-martingale decomposition:

dY (t) = Y (t)(adt + BdW (1)), 0<t<T
Y(0)=y (2.3.2)



We need to choose a and  such that XY is a super-martingale for all admissible control process
me A
By applying Ito’s lemma, we have
AXTR)Y () =X"(t)dY (t) + Y ()dX"(t) +d[ X", Y],
=X")Y(t)[(a+r+7(t)do + w(t)Bo)dt + (n(t)o + B)dW (t)]
XT(0)Y(0) = =y

X™Y is a super-martingale if and only if

a+r+mn(t)bo+w(t)Bo <0
for all m € K a.s. for a.e. t € [0,T]. Thus we can have

a+r+dx(—o(@+p)) <0

where dx (z) = sup,c{—mz} is the support function of the set —K.

Define v = —a (6 + 3). We have
a< —(r+d6x), B=—-0"tv+0)
According to the assumption, we know K =R and ¢ > 0. Then we can get:

0+B8=0, B=-6
a+r<0, a<-r (2.3.3)

Recall the definition of dual function of U:

Uly) = sup(U(z) — zy)

x>0

We have

U(x) <U(y) + zy,VYo,y >0
and the equality holds if and only if U’ (z) = y. Therefore,
E[U(X™(T))] < E[U(Y/(T))] + EIX™(T)Y(T)] < E[U(Y(T))] +ay
which leads to B
sup E[U(X™(T))] < inf(E[U(Y/(T)] + zy)

Y,

For any fixed y, the solution Y of SDE(2.3.2) satisfying condition(2.3.3) is bounded above by the
process Y ¥) satisfying the SDE:

dYW(t) = =YW (t)(rdt + 0dW (t)), 0<t<T
Y®(0) =y (2.3.4)

That is equivalent to Y (t) < Y®)(t) a.s. for 0 <t < T. Then E[U(Y(T))] > E[U(Y¥(T))] for
any fixed y because U is a strictly decreasing function. We can get the optimal « is —r. The dual
process Y satisfies

AY (t) = =Y (t)(rdt + 0dW (1)), 0<t<T
Y(0) =y (2.3.5)

The optimal value of the dual minimization problem is defined by

= yei(%foo)(xy + E[U(Y/(T))]) (2.3.6)

Define V (t,y) = E[U(Y (T))|Y (t) = y] and

Vit,z) = inf (zy+V(t,y)) (2.3.7)
y€(0,00)

10



Any g € (0,00) satisfying zg + E[U(Y(T))} = V(ac) is called the optimal dual control and the
corresponding Y is called the fgoptimal dual process.

Then we will solve the dual minimization problem. For 0 < ¢ < T', minimum points is obtained by
solving

oV (t,y)
Jy

+2=0 (2.3.8)

Since V(t,-) is strictly convex, Vy(t, -) is strictly increasing. That means there exists unique y
solving (2.3.8), write it § = y(¢, ). Since the process start from time 0, by setting ¢ = 0, we have
¢ = y(0,z). Then we can get:

V(t,z) = V(t,y(t,z)) + zy(t, z) (2.3.9)

By (2.3.9):

=V (2.3.10)

7, =0 2%y, (2.3.11)

Vip = = (2.3.12)

By (2.3.8):

Recall

V(t,y) = E[UY (D)|Y (1) = y]
dY (t) = =Y (t)(rdt + 0dW (t)), 0<t<T
By Feynman-Kac Theorem|[22], V satisfies a linear PDE(called dual HJB equation):

~ N 1 N N -

Substitute y,Vy, Vyy,f/t into (2.3.13)

- 1, 1
‘mfrm4ﬂ0+§¥vﬂ—ﬁh):o

> o 1, VP

Vet ralVy — 5625 =0 (2.3.14)

xrx

that is exactly the HJB equation

V(T,z)= inf (zy+V(T,y)) = inf (zy+U(y))="U()
y€(0,00) y€(0,00)

We have shown that V is a classical solution to the HJB equation and satisfies the terminal con-
dition. The significance of this result is that we no longer to guess a solution form of the HJB

11



equation, which is almost impossible for general utility function except for power or log utility
functions. That means we can find a representation of the classical solution to the HJB equation
via two simple convex dual operations and solution of a linear PDE.

Here are two examples of solving Utility Maximization problem by this method.

Example 2.3.1(power utility function) U is a power utility function defined by U(z) =

%xﬁ, x € (0,00), where 8 € (0,1) is a constant. In this case, the dual problem can be written as

Vi) = it Gy+ EDY@O)YE) =3 = inf (y+ V()

The dual function of U is )
7 B

o) =

- xy)
Taking derivative with respect to x of %wﬁ — zy and set it equal to be 0, we have

xﬁfl_y:()? mzyﬁ

Then the dual function can be written as U(y) = —éya where o = B% is a negative constant.

1
And the dual value function is given by
Vi(t,y) = E[UY(T))|Y(t) = y]

where Y satisfies the SDE(2.3.5). By calculating, we have

V(t,9) = Uly) exp((ala — 16 — or)(T 1))

where 0 = £,

To solve

inf  (zy+V(t,y))
y€(0,00)

We can take derivative with respect to y and then set it to be 0. We have:
a—1 1 2
T —y eXp((ia(a— 1)0° —ar)(T—1t))=0

Then we can get § = y(t,x)

ar

NT = 1))

1 1
t — pra—1 I 92
y(t,2) = 277 exp((~ 3o +

1
g=y(0,z) =xaT exp((—§a92 + Ofl)T)
- 1 1
V(t,z) = V(t,x) = zy(t,z) + V(t,y(t, 7)) = U(z) exp(B(r + 592m)(T —t))
Recall that ©*(t,z) = fgx“;ﬁ. By calculating V,, = 2~ exp(B(r + %QQﬁ)(T —t) and V,, =
(B—1)xPZexp(B(r + %92 1iﬂ)(T —t)) and then substituting them into this equation, we have
0
™ (ta) = —
0= T8

Substituting 7*(¢, z) = ﬁ into the wealth equation we can get

IR 62 0
dXt = Xt ((T’ + 1— B)dt =+ 1—ﬁth>

12



with initial wealth X™(0) = =

The optimal wealth process is given by

. —28)6? 0
X[ =xzexp((r+ (21(1 _2%))2 )+ 1= 3

Compared with example 2.2.1, example 2.3.1 get the exact same solution of optimal wealth
process by using dual HJB method.

W)

Example 2.3.2(non-HARA utility function) Another example is the non-HARA utility max-
imization. U is a non-HARA utility function defined by U(z) = $H ()% + H(z)~! + xH(z) for
x> 0, where H(x) = v/2(—1+ /1 + 4x)~'/2. In this case, the dual function of U is

0(y) = sup(3 H(z) ™ + H(a)™ + zH(x) — )

Taking derivative with respect to x of $H(x)™3 + H(z)~! + H () — xy and set it equal to be 0,
we have

—H(x)™*H'(z) — H(x)*H (z) + H(x) + 2H (z) = y
By calculating, we can get —H () *H (z) — H(x) 2H () + zH () = 0, which means H(z) = y.

Then the dual function can be written as U(y) = %y_?’ +y oy —ay = %y‘B +y~ ' And
the dual value function is given by

V(t,y) = BOY(T))[Y (1) = ]

where Y satifies the SDE(2.3.5). So we have Y (T') = Y (¢) exp(—(r + %)(T —t) — OWrp_y)

Therefore,
V@y)zEféﬁ3wMMT+%3@3%%+%W%4)+y46m«%+§ﬂT—ﬂ+ﬁW%%)
= Ly exp(3(r + )T — 1) Blexp30Wr_)] + 5" expl(r+ 5T = ) Elexp(0Wr_)
= Ly (3 + DT ) exp(EE=) 1yt exp(r+ Ly ) e EEZD)
= 2y exp(Br + 66%)(T — ) + " expl(r + 0%)(T 1))

Same as the example 2.3.1, we also need to solve

inf (zy+ V(t,y))
y€(0,00)

Taking derivative with respect to y and then set it to be 0. We have:
=y texp((3r +60*)(T —t)) —y 2exp((r + 6*)(T —t))
xy* — exp((3r +60*)(T —t)) — y? exp((r + 0*)(T — 1)) =0

2 exp((r + 02)(T — t)) + /exp((2r + 202)(T — t)) + 4z exp((3r + 662)(T — t))
2z

Nl

g=y(t,z)= \/% exp((r+6*)(T —t)) + \/exp((Zr +202)(T —t)) 4+ 4z exp((3r + 662)(T — t))
And § = y(0,z). Then

V(ta x) = V(ta (E) = :L'y(ta ZE) + V(ta y(tv x))

=

=+ 2§ exp((3r + 60%)(T — 1)) + 5~ " exp((r + 6°)(T — 1))

w

13



als
N
&
Il
Sz
I
<
Q
=]
o,
&
8
Il
I
8
8
I
\
>‘H
=
(¢]
g
3

Recall that 7*(t,z) = —

0
™ (t,x) = ——+
o

We can get Vyy from previous equation. Then

_ §4g)_4 exp((3r + 60%) (T —t)) + 292 exp((r + 6%)(T — t))

*(t
™t ) o x

49" exp((3r+662)(T—1))+2§* exp((r+62)(T—t))

= into the wealth equation we

Substituting 7*(¢,z) = g
have

dXt”* = [92 (4@‘4 exp((3r 4+ 66%)(T —t)) + 29 2 exp((r 4+ 0*)(T — t))) + ’I“XZT*:| dt
+ 9(4g—4 exp((3r +60%)(T — t)) + 29 2 exp((r + 6*)(T — t)))th

Equation 2.3.8 holds for all 7 € A. Thus we have
Xt”* =Y, exp((3r + 602)(T —t)) — Y; 2exp((r + 6*)(T — 1))
where Y; satisfies

dY (t) = =Y (t)(rdt + 0dW (t)), 0<t<T
Y(0)=49

We have Y; = g exp(—(r + 9—22)t — OW;) and

X =¥ exp((3r + 60%)(T — 1)) — Y 2exp((r + 6%)(T — 1))
=g exp(4(r + 02—2)15 + 40W,) exp((3r + 662)(T — 1))

02
+ 5 2 exp(2(r + E)t + 20W;) exp((r + 6*)(T — t))
_ y7463(r+262)T6(r7492)t+40Wt + g726(r+02)T6'rt+20Wt

2.4 Necessary and sufficient conditions for primal problems

In this part, all the setting, lemmas and theorems are from Li and Zheng[18]. There will be N
risky assets and all coefficients are processes.

Recall the wealth process X[ satisfying SDE:
dXT = XT[(r(t) + 77 ()a(t)0(t))dt + 77 (t)o (t)dW]

with initial wealth z, where 0(t) = % and W is a standard Brownian motion. The value

function is
V £ sup E[U(X™(T))]
TEA

V(t.x) = sup EIU(X™(T))|X7(t) =]

Given an admissble control 7 € A and a solution X™, the associated adjoint equation is the
following linear BSDE in the unknown processes p; € H2(0,T;R) and ¢, € H?(0, T;R"N)

dpi(t) = —[(r + 7" (o ()0(6))p1() + af ()0 ()m(t)]dt + qf ()W (2)
p(T) = U (X™(T)) (2.4.1)

Define the Hamiltonian function H by

H(t,z,m,p1,q1) £ a(r(t) + 7 o(0)0(t)pr + 2nl o (g (24.2)
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Then the adjoint process is a pair of processes (p1, q1) satisfying the following BSDE

Ao (1) = — - M1, X7(0),w(2), pa (1), aa ()i -+ T ()W (1)

with the terminal condition py(T) = —U' (X™(T)), which is the BSDE(2.4.1).

Lemma 2.4.1 Let 7* € A and strictly positive, adapted process X™ satisfy the SDE(2.1.2).
Then there exists a unique solution (p1,q1) to the adjoint BSDE(2.4.1).

Theorem 2.4.2 (Primal problem and associated FBSDE) Let 7* € A. Then #n* is opti-
mal for the primal problem if and only if the solution (X”* ,D1,q1) of FBSDE

dX™ (t) = X™ [(r(t) + 77 () (£)0(t))dt + 7 (t)o (t)dW (¢)]

X" (0)==z
dpy(t) = —[(r(t) + 7T (1) o (O))p1(t) + @ " (t)o T (t)7* ()] dt + ¢1 " (t)dW (¢)
P(T) = -U (X" (T)) (2.4.3)

satisfies the condition
—X™ (o ®)[0()p1(t) + Gi(t)] € N (x*(t)), Vte[0,T],P— a.s. (2.4.4)
where Nk (z) is the normal cone of the closed convex set K at « € K, defined as
Ni(z) 2 {y e RN :Va* € K, y(a* — x) < 0}

According to the assumption, we know all coefficients are constant, ¢ > 0 and K = R. Then we
have

Op1(t) + q1(t) =0 (2.4.5)
Substituting (2.4.5) into (2.4.3) we have

*

dX™ (t) = X™ [(r + 7* (£)00)dt + 7 (H)odW (t)]

X" ==z
dpy(t) = —rp1(t)dt — 0p1 (t)dW (t)
p(T) = ~U (X" (T)) (2.4.6)

2.5 Necessary and sufficient conditions for dual problems

In this part, all the setting, lemmas and theorems are from Li and Zheng[18]. There will be N risky
assets and all coefficients are processes. We address the dual problem. We assume that for any
(y,v) € (0,00) x D, E[U(Y®?)(T))?] < 0o to ensure the existence of an optimal solution. Given
an admissible dual control (¢,%) € (0, 00) x D with the dual process Y (#?), the associated adjoint
equation for dual problem is the following linear BSDE in the unknown processes ps € H2(0,T;R)
and ¢» € H2(0,T;RN)

dpa(t) = {[r(t) + ok (0()]P2(t) + @ ()[0(t) + o (H)o(8)] }dt + G (£)dW (t)
Po(T) = —U (Y32 (T)) (2.5.1)

Since pAgY@’ﬁ) is a martingale, we can find p(t),0 < ¢t < T from the relation
P2(t)Y O (t) = E[pp(T)Y @0(T)|F] = —B[U (Y @9(T)Y @9)(T)|F (2.5.2)

Lemma 2.5.1 Let (y,v) € (0,00) x D and Y ®?) be the corresponding state process satisfying

the SDE(2.3.4). Then the random variable Y%*)(T)U (Y (¥*)(T)) is square integrable and there
exists a solution to the adjoint BSDE(2.5.1)
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Theorem 2.5.2 (Dual problem and associated FBSDE) Let (¢, 9) € (0,00) X D. Then (3, )
is optimal for the dual problem if and only if the solution (Y %%, 5, ¢,) of FBSDE

dY PO () = =Y OO (){[r(t) + 5 (8(t)]dt + [0(t) + 0~ (£)o(1)]dW (¢)}

Y0 (0) =
dpa(t) = {[r(t) + 5 (D)) Pa(t) + G2 ()[6(t) + o~ ()]}dt + o™ (£)dW (1)
p(T) = U (Y9(T)) (2.5.3)

satisfies the condition

pa(t) o ()] 'ga(t) € K
P2(t)0k (0(t)) + Go(t)o L (t)d(t) = 0,Vt € [0, TP — a.s. (2.5.4)

2.6 Dynamic relations of primal and dual problems

We state the dynamic relations of the optimal portfolio and wealth processes of the primal problem
and the adjoint processes of the dual problem and vice versa from Li and Zheng[18].

Theorem 2.6.1 (From dual problem to primal problem) Suppose that (g,9) € (0,00) x D
is optimal for the dual problem. Let (Y(y’”),p},q}) be the associated process that solve the FB-
SDE(2.5.3) and satisfies condition (2.5.4). Define

eip o o)) a(t)
o) = P2(t)

Then 7* is the optimal control for the primal problem with initial wealth x. The optimal wealth
process and associated adjoint process are given by

, te(0,T] (2.6.1)

Gu(t) = YO (1) (0 (B)o(t) + 6(1)) (2.6.2)

Theorem 2.6.3 (From primal problem to dual problem) Suppose that 7* € A is optimal
for primal problem with initial wealth x. Let (X LA ¢1) be the associated process that satisfies
the FBSDE(2.4.3) and condition (2.4.4). Define

g% —p1(0)

ot) 2 —o() L)

pi(t)

Then (g, ?) is the optimal control for the dual problem. The optimal dual process and associated
adjoint process are given by

N~—
(>

+O), Vtelo,T] (2.6.3)

YOI(t) = —pi(0),
pA2(t) = X%<t)7
G@a(t) = T (t)7(t)XT(1). (2.6.4)

Here are two examples that we use primal and dual FBSDE method to solve the maximization
problem.

Example 2.6.1(power utility function) Recall that power utility function U(z) = %xﬁ, Uly) =

%yﬁ%, U'(y) = —yﬁ%l. We have calculated before that Y (T') = yexp(—(r+ %)T—@WT). Then

we can get
2

YO(T) = gesp(~(r + 2T ~ W)
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Since poY 9 is a martingale, we have
pa(t)Y D (t) = Elpa(T)Y D(T)| F) = —E[U" (¥ 9(T))Y O(T)| 7]
= B[y /(1) 77| 7]
s B 62 03 1 B

= 7 (5 o+ 5 = ) ep(50 2T - )
So we can get pa(t)
] 62 0
palt) = 7 expl— 3 (4 D)7 = W exp(0° (5T - 1)
g Lexp((r + e—;)t + 0W;)
! 62 6 —23)6?
7§71 exp( ﬁ/f 17"T + ;(56— 1)2T) exp(—ﬁW 1) exp(rt + 2(1@_2%75)

By Theorem 2.5.2, we need to satisfy three conditions. The second and third conditions always
hold by our assumption. We need to check the first condition.

R 1 B 1 Be?
= Y B- _— T —7T =
pQ(O) Yy eXp( 6—1T +2(/8_1)2 ) €T
Only when § = 27~ exp(BrT — l—ﬁelT)7 the first condition holds. Therefore, we can get

pa(t) = zexp(rt + 2(1(5_2% t+ 3 ﬁ 1Wt)

Applying Ito’s lemma on py, we have

dpa(t) = po [(r + (5([; 2/31); e 5)2) dt + 195th]

Comparing with FBSDE(2.5.3), we have

Applying Theorem 2.6.1, we have

oo @)
opa(t)  (1=P)o
(1—283)6? 6
t Wit
21-p7 1" W
Compared with example 2.3.1, example 2.6.1 get the exact same solution of optimal wealth by
using dual FBSDE method.

X" (t) = pao(t) = zexp(rt +

Then we need to verify the optimal control and wealth process are correct. Define § = —p;(0),
o(t) = —o[ L5 + 6] =0

We know that dX™ (t) = X7 [(r + 7*(t)o0)dt + 7*(t)ocdW (t)], then we have
62 0
- ﬂ)dt + 1-53

02) n 0
1_5171 Il BQ1

AX7™ () = X™ () ((r + dW;)

%(t7x7a7p17q1) = ‘T(T +

Then we have

2 0
—dp1(t) = ((r + m)ﬁl(t) + -5

= rp1(t)dt + 0p: (t)dW;

q1(t))dt — g1 (t)dW;
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]fl (t) = ]fl(O) exp(—(r + %)t - HWt)

So we have A
YO (t) = —pi(t)

We can also get
P2 = X"(t)

G2 = o ()7 (t) X7 (t)

which means the optimal control and wealth process are correct.

Example 1.5(non-HARA utility function) Recall that non-HARA utility function U(z) =

t1H(z) "+ H(z) ' +2H(z) for > 0, where H(z) = V2(-1+v1+4z)" /2. U(y) = sy +y~ 1,

1

2

~_/

U =-yt-y2andg= F exp((r + 02)T) + \/exp((2r + 202)T) + 4z exp((3r + 602)7T)
We have calculated before that Y(T') = yexp(—(r + 7)T — OWr). Then we can get

2
YONT) = jexp(—(r + %)T — 0Wr)

Ba(t)Y W (t) = Elpo(T)Y W(T)|F,] = —E[U (Y 9(T)Yy W\(T)| ]
= E[y® (T)_?’ +YO(T) Ry
— RSty 2T B3OW (1) , 24 (T—t) F gttt s )T W (1), % (T—t)
So we can get pa(t)

If2(7f) _ g—463(r+292)Te(r—492)t+40W(t) + g—Qe(r+02)T6n+29W(t)

We need to satisfy the first condition. Thus we have

p}(O) e g—4e3(r+292)T + g—Ze(r+02)T

N

o1 , : S
Y= m[exp((r+9 )T) + \/exp((2r—|—29 )T') + 4z exp((3r + 60 )T)]

Applying Ito’s lemma on ps, we get
@ (t) = [4y4es(r+202)T€(r402)t+49W(t) + 2@2e(r+62)Tert+29W(t):| 0
Applying Theorem 2.6.1, we have
* (fQ (t)

n Gﬁg(t)
* ~ r 2 r— 2 _ . -
X™(t)=ps(t) =9 —43(r4207)T (r—407)t+40W () +9 2,( +6? )T rt+20W (t)

Compared with exaple 2.3.2, example 2.6.2 get the exact same solution of optimal wealth by
using dual FBSDE method.

We also need to do verification. Define § = —p(0), 0(¢) = [‘“(t) +6]=0
We know that dX™ (t) = X7 [(r + 7*(t)o8)dt + 7*(t)ocdW (t)], then we have
Ga(t)

NP -10)

dXT (1) = X7 (R + 0 gy lde + gy Wi
- G@a(t) G2(t)

H(t,z,a,p1,q1) = x(r+9p;(t) 1) +xp;(t)6h
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Then we have

So we have

We can also get

~a(0) = ((r+ 0L ) + LD i )t - sy

= T]fl (t)dt + 9]51 (t)th

2

]fl (t) = ]fl(O) exp(—(r + %)t - HWt)

YO (1) = —pi (1)

P2 = X"(t)
G =0l ()F(t)XT(t)

which means the optimal control and wealth process are correct.
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Chapter 3

Unconstrained Utility
Maximization Problem under

Factor Models

In this chapter, we study utility maximization problem for different utility functions under different
stochastic factor models. The volatility term of risky asset price is still constant and the drift term
of risky asset price becomes a process.

3.1 Primal HJB Method

3.1.1 Power utility function under Stochastic Factor Model 1

In this part, the drift term of risky asset price process will be replaced by CIR affine process, not
constant vector. K = R and we will consider power utility function.

Same as before, we assume market has two assets, risky-free asset Sy, risky asset S, satisfying

SDE:
dSo(t) = rSo(t)dt
dS(t) = H(t)S(t)dt + oS(t)dW () (3.1.1)
H(t) = k(c— H(t))dt + oy/H(t)dW (¢)

with S(0) =1,5(0) = S, H(0) = h, where r,0, k, ¢, 01 are all constant, W is a standard Brownian
motion.

The wealth process X™ satisfies SDE

AX™(8) = (1= 7(t)) X (t)rdt + () X™(¢) ét))
— (1= 7)) X ()rdt + 7 () X™(0)(H ()t + odW (1))
= XT(0)[(r + () (H(E) — #))dt + 7(t)odW ()] (3.1.2)
The value function is
V(t, 2, h) = sup E[U(X™(T))|X™ () = 2, H(t) = I (3.1.3)

TeA

with terminal condition V(T,x,h) = %xﬁ where U is power utility function.

We can get the HJB equation:

8tV+k(c—h)8hV+ —02hop,V + sup{z(r +7(h —7))0,V + = (xﬂ'U)QamV—i—mroal\/E@th} =0
TeA
(3.1.4)
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Now we need to solve (2.4).

Firstly, we need to find the optimal 7* for

sup{z(r +n(h —7))0,V + %(:L‘mf)zamv + xmooy \/Eath}
TEA

Taking derivative with respect to m and then make it to be 0, we can get

N h— 1)V, + co1VhVy,
S k) ppn ! (3.1.5)

Substituting 7* into HJB, we have

[(h—1)0,V + 0o, VhVy]?

L,
OV + k(c—h)ORV + 301 hopnV + xro,V — EE T =0 (3.1.6)
Assume that V (¢, z,h) = U(x)f(t,h). Then we can get
3tV = U(x)@tf
8hV = U(.’L‘)ahf
6th = U(x)ahhf
0,V = EV
x
-1
0V = 76(6 5 >V
x
_B
ath = ;U(m)@hf
Substituting them into HJB and then canceling U, we have
L o Bl(h —r)f + 001 VRO f]* _
O f +Ek(c h)ahf+§alh8hhf+ﬁrf 2025 —1)f =0

¥ _ (h — T)f + O'O'l\/ﬁahf
o?(B-1)f

with the terminal condition f(T,h) =1 and dH(t) = k(c — H(t))dt + o1/ H (t)dW ().

This is a semilinear PDE in the form

7atf7£f 7g(t7h7f70-1\/ﬁahf) =0

where Lf = k(c — h)opf + $07hdpnf and g(t, h, f, o1Vhonf) = Brf — B[(h_g)fzrgillﬁahf]Q. We
shall represent the solution to this PDE by means of BSDE

—dY; = g(t, Hy, Yy, Zy)dt — ZedWy, Yo = f(T,h) =1 (3.1.7)

where Y; = f(t,H;), Zy = 01V HOn f(t, H;). The solution to the BSDE provides a solution to the
semilinear PDE.

3.1.2 Log utility function under Stochastic Factor Model 1

In this part, the only difference from part one is that we use log utility U(x) = log(z)
and we know that éin}) %(mﬁ —1) =log(x)
—

The value function is

V(t,a,h) = sup BIU(X™(T)|X"(6) = o, H(t) = 1] (3.1.8)
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with terminal condition V (T, z,h) = log(x) where U is log utility function.

We will get the same HJB equation,

1 B x T 2
OV + (e — MWV + Lo2hdV + aro,v — W10V + o VhVa]® _ (3.1.9)
2 2020,V
Assume that V (¢, z, h) = log(x) + f(t,h). Then we can get
OV =0 f
oLV = 0nf
OnnV = Onn f
1
0.V =—
x
1
ax;cv = _?
0znV =0
Substituting them into HJB, then we have
2 (h—1)?
Of+k(c—h)Onf + alhahhf+r+272:0 (3.1.10)
. h-—r
™= (3.1.11)

with the terminal condition f(7T,h) = 0 and dH (t) = k(c — H(t))dt + o1/ H(t)dW (t). Using the
Feynman-Kac formula for f, we can get the Feynman-Kac representation for f

T
f(t,h):E[/t —r—(H272)ds\Ht n (3.1.12)

Then we can get the value function V (¢, z, h) = log(x) + E[ftT —r — (HS;;)Q ds|Hy = h]

3.1.3 Power utility function under Stochastic Factor Model 2

In this part, we will use the power utility function and we assume market has two assets, risky-free
asset Sy, risky asset S, satisfying SDE:

dSo(t): o(t)dt
= VH(t)S(t)dt + oS (t)dW (t) (3.1.13)
(t): (¢ — H(t))dt + or/H(t)dW (t

with So(0) = 1,5(0) = S, H(0) = h, where 7,0, k,c,o; are all constant, W is a standard Brownian
motion.

The wealth process X™ satisfies SDE

dX7(t) = (1 — x(£)) X ™ (t)rdt + w(t)Xﬂ(t)CfgS((tt))
= (1 —a(t) X" (t)rdt + 7(t) X" (t)(v/H(t)dt + ocdW (¢
= X™()[(r + 7 (t)(\VH(t) —r))dt+7r( YodW (t)] (3.1.14)
The value function is
V(t,z, h) = sup E[U(X™(T))| X" (t) = z, H(t) = h] (3.1.15)

TeA
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with terminal condition V(T,x,h) = %xﬂ where U is power utility function.

Then we can get the HJB equation:

1 1
OV +k(c—h)opV + iafhath—l— sup{x(r—l—w(\/ﬁ—r))@w‘/—&— i(xﬂa)Qﬁwa—l—xﬂaal\/E@th} =0
TEA

Firstly, we need to find the optimal 7* for

sup{z(r + 7(Vh —1))8,V + %(:mra)23mV + znoo,Vhd, V)
TEA

Taking derivative with respect to m and then make it to be 0, we can get

. (\/E -V, + ooV hVyp

= —
022V

Substituting 7* into HJB, we have

— 2
0,V + k(e — h)apV + %afh@th oo,y (/D 7’)3;‘/2; aglﬂawhv] —0
g xTrxr

Assume that V (¢, z,h) = U(x)f(t,h). Then we can get

825‘/ = U(x)(?tf
8hV = U(.Z‘)(r“)hf
8th = U(:r)@hhf

0;V = éV
xT
by =281y
T

8th = gU(CE)ahf
Substituting them into HJB and then cancel U, we have

BI(Vh — ) f 4+ o1 Vhoy f)? _

202(5 1)/ 0

0uf + ke~ WOLF + Sothow.f + Brf —

o (Vh=r)f +o01Vhof
- o*(B-1)f

with the terminal condition f(7,h) =1 and dH (t) = k(c — H(t))dt + o1/ H (t)dW (¢).
This is a semilinear PDE in the form

_atf_‘cf _g(tvhvao—l\/ﬁahf) =0

(3.1.16)

(3.1.17)

(3.1.18)

where Lf = k(c — h)Oyf + 107hOn, f and g(t, h, f, o1VhoLf) = Brf — BIVh=n)ftoorVhoul® vy

202(B-1)f
shall represent the solution to this PDE by means of BSDE

_d}/;f :g(ththtaZt)dt_thWt» YT :f(T7h) = 1

where Y, = f(t, Hy), Zy = o1 H O f(t, Ht). The solution to the BSDE provides a solution to the

semilinear PDE.
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Ansatz:V (t,x, h) = U(x)f(t,h), f(t,h) = exp A(t) + B(t)v'h + C(t)h. Then we can get:
O,V =V(A'(t)+ B'(t)Vh + C'(t)h)
OV = V(%B(t)h*% +Cw)

OV = VI(G B} + OW)? + (3 B )
0,V = gv
88— 1)

02V = |4

2
) V—BvxlBth—% C(t
whV = (5 (t) +C(t))

Substituting them into HJB and then cancel V', we have

(A" +B'Vh+C'h) + k(c - h)(%Bh*% +C)+ alh[( Bh™: +C)* + (%Bh’%)l +Ar

- [\/E—r—kag;;/(Z(%Bl’;l_? +O°B _ (3.1.19)

. (Wh=r)+001(3B(t) + C(t)Vh)
= 1) (3.1.20)

Let coefficients of h_%, 1,vVh, h be 0. We can get

h"r: 0= %kcB(t) - %UfB(t)
1: 0=A(t)+ keC(t) + %U%Bz(t) + Br — B(%;:;(]Z(i) 1_) r)”
VR: 0= B0 - kB0 + JotBc - OO D B2 o
he 0=C(t) - kC(t) + 0102() 5(02?2((75@151)2
We first consider 0 = $kcB(t) — 07 B(t) There are two cases: B(t) =0 or tkc— 0% =
Casel: B(t) = 0. Under this condition, we also need one assumption that » = 0 to make

the equation VA : 0= B'(t) — LkB(t) + Lo B(t)C(t) — ‘3("‘”0(”;1();2;';’13@ ") hold. Then we
need to solve A(t), C(t).

Let’s consider the equation 0 = C'(t) — kC(t) + 201C?(t) — BloaiCO+D® e have

i 207 (3-1)
B af B
C'tfk+LCt+771C2t77:O
() - (h+ =200 + (-5 )00 -
Let ayp = _2(5721), bl = k+ 0_(%761), and Cc1 = % Then we haVe7
by b?
4 _72_ 71 —
C'(1) +ar(C(t) = 5 = (1 +e1) = 0

Let C(t) = x(t) + 2,11, o= 4a1 +C1, and a1 = kl’ we can get x(T) = _h

atX - 1
k1g — x? k1
This is Riccati equation and we can get the solution

2y (T—t)
() = Ve

1— CeQ’Y(T_t)
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where .
o 20 T VOk
Y= and (= ——
1 2ar — VoK1
We have already known C(t) and B(t) = 0, then we can get the solution of A(t) by 0 = A’(t) +
l(7'0' - 2
keC(t) + Lo? B2(t) + pr — 220 B0 = /(1) + keC (1)
At) = /fch’(t)dt + constant

we can get the value of constant by terminal conditon A(T) = 0. After that, we get the solution
for the HJB equation.

Case2: jkc— $o? = 0. Under this condition, we need to solve A(t), B(t) and C(t).

Let’s first consider the equation 0 = C’(t) — kC(t) + 303C?(t) — %ﬁ(?#)z Same as Casel, we
can have C(t) = x(t) + 2

2a1

29(T—t)
() = Ve

1— CeQ’Y(T_t)
7 bt ok
=4/ and (=1——
ki 2a; V ok

U% _ o1 _ B
-0 T S T 22 ()

Then we need to solve B(t) by 0 = B'(t) — $kB(t) + 103B(t)C(t) — ﬁ(mlc(t);l()ﬁ(_%f;lB(t)fr). We

where

b? 1
,¢—E+Cl,a1—kfl

a) = —

have

)B(t) = _02(57; 1) - U(%Till)C(t)

Boy

U= -1

, 1 1 Bo?
B'(t) + (5050(15) -5k 2(57_11)

02 g T o
Let 303C(1) = 3k = 35, C(0) = m55iny = P —5afi—n — 3¢5 C(t) = Q(#). Then we can get

B'(t)+ P(t)B(t) = Q(t)
The solution is

[ u(t)Q(t)dt + constant
B 1(t)

B(t)
,U(t) _ ef P(t)dt

We can get the value of constant by terminal conditon B(T) = 0. After solving C(t) and B(t), we

can get the solution of A(t) by 0 = A’(t) + keC(t) + 01 B(t) + Br — 3(52‘7;}(712(27)2

ﬁ(%aalB(t) —7)?
2023~ 1)

we can get the value of constant by terminal conditon A(T) = 0. After that, we get the solution
for the HJB equation.

At) = /—ch(t) - 50%32@) — pr+ dt + constant

3.2 Dual HJB Method

3.2.1 Power utility function under Stochastic Factor Model 1
Define the dual function of U by

Uly) = i‘;’g(U(””) — xy)

25



~ 8
For power utility function U(z) = %xﬁ, we can get U(y) = %ym

The dual process Y is a strictly positive and has the following semi-martingale decomposition:

dY (t) = Y (t)(a(t)dt + B)AW (1)), 0<t<T
Y(0) =y (3.2.1)

We need to choose a and 3 such that XY is a super-martingale for all admissible control process

me A
By Ito’s formula, we have

AXTOY (1) = XT($)dY (t) + Y (£)dX™(t) + d[X™, Y],
= XT(OY (1)[(alt) + r+ n($)(H(E) — 7) + 7(t)B(t)o)dt
+ (m(t)o + B(t))dW (t)]

X™(0)Y(0) =y

X7Y is a super-martingale if and only if

alt)+r+m@t)(H@)—7r)+7()B(t)o <0
for all # € K a.s. for a.e. t € [0,T]. So we can have

a(t) +r+ox(=(H(t) —r) = B(t)o) <0
where 0 (2) = sup,cx{—7z} is the support function of the set —K.
Define v(t) = —(H(t) — r) — B(t)o. We have

a(t) < —(r +0x(v(®), Bt) =—(o" v(t) + o7 (H(t) — 1))

According to the assumption, we know K =R and o > 0. So we have v(t) = 0. Then we can get:

alt)+r <0, at)<-r

H(t)—r
st = - =T (3.22)
o
So we can get the dual process:
H(t) —
dY (t) = =Y (t)(rdt + MdW(t)), 0<t<T
o
Y(0)=y (3.2.3)
The optimal value of the dual minimization problem is defined by
V= inf (zy+ E[UY(T))]) (3.2.4)
y€(0,00)
Define the dual value function
V(t,y,h) = E[UY ()Y (t) =y, H(t) = h] (3.2.5)
with the terminal condition V (T, y, h) = U(y).
So we can get the HJB:
N N - - h —1)2y? - h— h N
01V + k(e —h)OnV + 50t hdnV + =193,V + %%v - %ayw] =0 (3.2.6)
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Assume that V (t,y,h) = U(y)f(t,h). Then we can get

o,V =2 fﬁy—lv
By V = 17?33/72‘7 + (71 €5)2 Y
O =~y U)o

Substituting them into HJB and then cancel U, we have

pr (h—r)*B i (h—r)aivhp
-8 o*(1-p)? o(1-5)

with the terminal condition f(T,h) =1 and dH(t) = k(c — H(t))dt 4+ o1 /H(t)dW (t)

. -1 . - .
Ouf +k(c—h)onf + §a%hahhf +1 f +3 onf=0 (327

This is a semilinear PDE in the form

~0f — Lf —g(t,h, f,o1VhoRf) =0

(h r) B

where Lf = k(c—h)ahf+%a%h8hhf and g(t, h, f,o01VhoLf) =
We shall represent the solution to this PDE by means of BSDE

0’(1 B

—dY; = g(t, Hy, Yy, Zy)dt — Z,dW,,  Yp = f(T,h) = 1

where Y; = f(t7 Hy),Z, = le/Htahf(t, H,). The solution to the BSDE provide a solution to the
semilinear PDE.

3.2.2 Log utility function under Stochastic Factor Model 1

Same as before, the only difference from part one is that we use log utility U(x) = log(z). The
dual function of log utility function is U(y) = —log(y) — 1

We will get the same HJB equation,

(h—r)?y?* . - (h— )yrflf

N N 1 N N
OV 4+ k(c—h)o,V + 5a’f’hahhv + [~ryd,V + 57 DyyV — dynV] =0 (3.2.8)

Then we need to guess the solution of V.

Ansatz:V (t,y,h) = U(y) + f(t, h) with terminal condition f(T,h) = 0. Then we can get:

oV =08, f
WV =0nf
oV = Onnf
9,V = — 1
Yy

1
AynV =0

Substituting them into HJB, then we have

N -1 _ h—
Ouf + k(e = W)OnS + Sothdunf + 7+ =0 (3.2.9)
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with the terminal condition f(T,h) = 0 and dH(t) = k(c — H(t))dt + o1/H(t)dW (t). Using the
Feynman-Kac formula for f, we can get the Feynman-Kac representation for f

; _ g (Hs —1)*
F(t.h) = E[/t —r— Tds\Ht = 1] (3.2.10)

Then we get V(t,y,h) = U(y) + f(t,h) = —log(y) — 1 + E[f," —r — Y= 4| H, = h).

By V = i(rolf )(xy + E[U(Y(T))]), we need to take derivative with respect to y and then set
ye (0,00
it to be 0. Then we get
1
——+x=0
Y

We can get the optimal y and then we have

- 1 r H,
V(t,x,h) = x x - + log(z) — 1+E[/t —r — (272)d5\Ht = h]

= log(z) + E[/tT —r— (HZT)dﬂHt h] (3.2.11)

Compared with primal HJB method, we get the same solution by dual method.

3.2.3 Power utility function under Stochastic Factor Model 2

In this part, we will use the power utility function and we assume market has two assets, risky-free
asset Sp, risky asset S, satisfying SDE:

dSo(t) = rSy(t)dt
S(t) = \/H(t)S(t dt + oS(t)d (t) (3.2.12)

H(t) =k(c— H(t))dt + o1/ H(t)dW (¢
The wealth process X™ satisfies SDE
dX™(t) = X" (t)[(r + 7(¢)(\/ H(t) — r))dt + w(t)odW (t)] (3.2.13)

The dual process satisfies SDE:
Ay (8) = —v (1) (rde + YD =T )=y W(t), 0<t<T
Y(0) =y (3.2.14)

The optimal value of the dual minimization problem is defined by

V= yei(rolfoo)(xy + E[U(Y(T))]) (3.2.15)
Define the dual value function
V(t,y,h) = E[UY (T)|Y(t) =y, H(t) = h] (3.2.16)

with the terminal condition V (T, y,h) = U(y).

Then we can get the HJB equation:

Vh—r*? . o (Vh—r)yovh

A N 1 N A
oV + k(c—h)oLV + Eafhﬁhhv + [—ryo,V + 252 .

2,1, V] =0
(3.2.17)
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Ansatz:V (t,y,h) = U(y) f(t, k), f(t,h) = exp A(t) + B(t)v'h + C(t)h. Then we can get:

>

0V = V(A’( )+ B'(t)Vh + C'(t)h)
OV = V( B(t)h™? 4+ C(t))
amVezvuéB@wf%—%c@»2+<738awf%n
@vwﬁmv
@W:fﬁjwv
AynV = y(ﬁﬁ_l)V(;B@)h—% +C(1t)

Substituting them into HJB and then canceling V', we have

(A" + BV + C'h) + k(c — h)(lBh’% L0+ alh[( Bh} +0)? + (—2Bh 3]

Br . (Vh—r)’B (ffmalfg 1
TB-1 2212 e(B-1) (3Bh™2 +C)=0 (3.2.18)

Let coefficients of h_%, 1,vVh, h be 0. We can get

Kz 0= %kcB(t) - %a%B(t)
r 7”2 g10T
1: 0=A(t) +kcC(t) + éU%B%) — ﬁﬁ_ T+ 202(56 — 1z + 20(65— 1)B(t)
. _n 1 1 pr o 1
Vh: 0=DB'(t) - SRB(t) + 2013( YC(t) — pe T Yy 1)(53(15) —rC(1))
h: 0=C'(t)—kC(t) + %a%cm) + 202(; 2 G(glﬁl)C(t)

(3.2.19)
Similarly, we first consider 0 = 1kcB(t) — §01B(t). There are also two cases: B(t) = 0 or
1 1 2
ske— 01 =0.
2 891

Casel: B(t) = 0 and r = 0. In this case, we need to solve A(t) and C(t). Let’s consider
the equation 0 = C’(t) — kC(t) + 307C?(t) + 202(571) U(‘Tﬁlﬁl C(t). We have

o1
o(B—1)
1.2

Let az = 501, ba =k + ﬂ 1),andcz:

C'(t) — (k+ YO (t) + %0%02(15) + __B

2578 — 1)

—20_2(5%1)2 Then we have

bo b3
’ _ 2 N\2 22 =
Clt) +ax(C#) = 5 )" — (g~ +e2) =0
Let C(t) = x(t) + 2a27 ¢ = 4a2 + co, and ag = kQ, we can get x(T') = —2%
9% _ i
kot —x* ko

This is Riccati equation and we can get the solution

2y(T—t)
X)) = VEb s

C 2v(T—t)
where .
o 2ay T VOk2
Y=14/7- and (=5
ko 2 — ok
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We have known C(t) and B(t) = 0, then we can get the solution of A(t) by 0= A'(t)+kcC(t)+

Lo3B2(t) — £ + gy + 52 B(t) = A'(1) + keC(t)

At) = /fch’(t)dt + constant

we can get the value of constant by terminal conditon A(T) = 0. After that, we get the solution
for the HJB equation.

Case2: 0 = 3kcB(t) — §01B(t). Under this condition, we need to solve A(t), B(t) and C(t).
Let’s consider the equation 0 = C’(t) — kC(t) + 307C?(t) + 202(571)2 - U(Jﬁlfl)C(t). Similarly, we
have C(t) = x(t) + 22

2a2

14+ Ce2’y(T7t)
X(t) = v/ kz(bm

1
where .
¢ 2(122 + v d)k
y=4/7- and (=F——
ko 20 — V ok
e, 018 ____ 5 _ b 1
(12—20'1,b2—k+0_(5_1),6‘2— 202(5_1)27¢_4a2+027a’2 )
Then we need to solve B(t) by 0 = B'(t) = $kB(t)+ 507 B()C(t) - 25y — 50325 (3 B() —rC (1)
We have
0+ Cotew - ke BT gy Pr B

Let %O’%C(t) — %k — Bos - P(t), Jz(gil)z - J€5011)C( ) Q(t) Then we have

20(B-1)
B'(t)+ P(t)B(t) = Q(t)
The solution is

[ u()Q(t)dt + constant
u(t)

B(t) =
M(t) — ef P(t)dt
we can get the value of constant by terminal conditon B(T) = 0. After solving C(¢) and B(t), we

can get the solution of A(t) by 0= A'(t) + keC(t) + 101 B2(t) — % + 2026;2_1)2 + 20(’(1/3ﬂf1)3(t)

Br Br? o187
o1 2217 20(-1)

we can get the value of constant by terminal conditon A(T) = 0. After that, we get the solution
for the HJB equation.

B(t)dt + constant

A(t) = [ —keC(t) - 5ot B @) +

3.3 FBSDE and dual FBSDE Method

Recall the theorem 2.4.2 and 2.5.2:

Theorem 2.4.2 (Primal problem and associated FBSDE) Let 7* € A. Then #n* is opti-
mal for the primal problem if and only if the solution (X™ , 71, ) of FBSDE

dX™ (t) = X7 [(r(t) + 7 () (£)0(t))dt + 77 (t)o (£)dW (t)]

X" (0)==z
dpi(t) = —[(r(t) + T (T ()0))p1 () + @ ()T (@)™ ()] dt + @ (t)dW (2)
pu(T) = U (X" (T)) (3.3.1)
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satisfies the condition
—X™ () (t)[0()pL(t) + G1(t)] € Nk (n*(t)), VYt € [0,T],P— a.s. (3.3.2)
where Nk (z) is the normal cone of the closed convex set K at « € K, defined as
Ni(z) 2 {y e RN :Va* € K, y(a* — x) < 0}

Theorem 2.5.2 (Dual problem and associated FBSDE) Let (g, 9) € (0,00) xD. Then (g, 0)
is optimal for the dual problem if and only if the solution (Y %% 55, ¢,) of FBSDE

Ay 00 () = =Y I {[r(8) + dxc ((t)]de + [0() + o~ (Do) dW (1)}
Yo ) =3
(t

dpa(t) = {[r(t) + 6x (8(1)] " Ba(t) + @ ()[O(t) + o~ ()]}dt + g2" (£)dW (t)
pa(T) = =U (YO(T)) (3.3.3)
satisfies the condition
p2(0) =z
pa(t) o)) @a(t) € K
P2(t)ox (0(t)) + g2 (t)o L (t)o(t) = 0,Vt € [0, TP — a.s. (3.3.4)

3.3.1 Log utility function under Stochastic Factor Medol 1

In this part, we have

dSo(t) = rSo(t)dt
ds(t) = H( )S ( )dt+05( )AW (t) (3.3.5)
dH(t) = k(c — H(t))dt + o1 \/H (t)dW (¢
K =R and we will consider the log utility funct1on

For primal FBSDE, since K = R, we have ¢y (t) = — ="y, (¢). By theorem 2.4.2, we have

4 (1) =~ (6 A,
A(T) = U (X7 (1) = ~ 5755

We need to find pg such that p1(T) = *ﬁ-

min E[(p1(T) + ﬁ)ﬂ If we can manage to find py and 7 such that the minimum value is
po,m

Now consider the optimal control problem

zero, we are done. However, if we seek a numerical solution, there is no possibility we can get the
minimum value is 0 and we may be satisfied as long as the minimum value is sufficiently close to
0. To solve the optimal control problem numerically, we divide interval [0, 7] by n intervals with
step size A = T/n and gird points to = 0,¢; = Az,¢ = 1,...,n. Assume on subinterval [¢;,¢;411),
control 7*(¢;) = «a(t;) + B(t;)Hy, is taken constant, Where a( ;) and [3(t;) are piecewise constant
within each subinterval. Using Euler scheme, we have

Hy,., = Hy, + k(c — Hi,)A + o1y/Hi,VAZ,,
Xt = Xti +Xti(’f’+7Tti(Hti — T))A'i_ﬂ—tiXtio—\/ZZti

"p tVAZ,

For dual FBSDE, we can write it as following by theorem 2.5.2

i+1

P1(tig1) = pi(ti) —rpi(ts)

Y (1) = Y (O){rdt + =" aw (1)}

Y(0) =y
A5al) = (ra(t) + dal6) " Yt + a0) T,
paT) = ~0'0(T) = 75
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satisfies the condition
p2(0) = zo
p(t) 'o T a(t) ER
Pa(t)0r (0(t)) + G2~ ()0 Li(t) = 0,V € [0, T|P — a.s.
Same as before, we consider the optimal control problem g)nqr; El(p2(T) — ﬁ)z] To solve the

optimal control problem numerically, we divide interval [0, T'] by n intervals with step size A = T'/n
and gird points tg = 0,t; = Aé,i = 1,...,n. Assume on subinterval [t;,t;11), control ¢a(t;) is taken
constant. Using Euler scheme, we have

Hy,., = Hy, + k(e — Hy,)A + o1 \/Hi,VAZ,,
H,, —
:Y;tl _Y;fi,rA_Y;fi - r\/EZti

g

Pa(tiv1) = pa(ti) + {rpa(ti) + G2 (ti)

Y;

i+1

H; —r
t7/

}A + ¢ (ti)\/ZZti

g

with initial condition p2(0) = x¢ and terminal condition p»(T") = ﬁ

We set the parameters as » = 0.05,k = 1,c =1,0 = 1,01 = 0.5,86 = 0.1,hg = 0.5,2¢9 = 10,T =
1,A = dt = 0.01. By simulation method, we have the optimal parameters «(t) and 8(t) as follows:

10 — dlphalt}
betalt)
0a
0.6
0.4
0z
0.0
D.ICI D.I2 D.I4 D.IG D.IB 1 ICI

Figure 3.1: Optimal «(t) and 8(¢) from Primal FBSDE, dt=0.01

Using the optimal parameters a(t) and B(t), we can get n*(t) = «(t) + B(t)H(t) from primal
FBSDE. Similarly, we can get 7*(¢) from dual FBSDE by using the optimal parameter g2(t) and
theorem 2.6.3. Plot them on graph, we can get

—— Wealth Process from primal FESDE
10 Wealth Process from dual FESDE

5

Wealth
[
o

15 A

w{ /77 (VAN Vv A

D.IO D.I2 D.I4 D.IG D.IS 1 IG

Figure 3.2: Optimal Pi from Primal FBSDE and Dual FBSDE,dt=0.01
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We can see that in figure 3.2, the two optimal control processes overlap completely, which means
the optimal control should be the same from primal FBSDE and dual FBSDE.

We can also get the wealth processes from primal FBSDE and dual FBSDE:

—— Wealth Process from primal FESDE
10 Wealth Process from dual FESDE
5
£
g 20
15
10
D.IG D.IZ D.I4 D.IG D.IS 1 I0

Figure 3.3: Wealth Processes from Primal FBSDE and Dual FBSDE dt=0.01

We can see that the wealth processes from two method almost completely overlap, which means
we can get almost the same wealth processes by both methods and both methods are effective.

3.3.2 Power utility function under Stochastic Factor Model 2: Case 2

In this part, we have
dSO(t) = rSo(t)dt
S(t) = /H(t)S(t)dt + o S(t)dW (t) (3.3.6)
dH(t) = k(c — H(t))dt + o/H(t)dW (¢

K =R and we will consider the power utility function.

For primal FBSDE, since K = R, we have ¢ (t) = 7@ 1(t). By theorem 2.4.2, we have

ag

\/Ht—'f'
g

dpAl (t) = —7“]51 (t)dt — pAl (t)th

Au(T) = =U (X" (T)) = =X ()"~

We need to find py such that p,(T) = —X(T)?~!. Now consider the optimal control problem
min E[(p1(T) + X(T)?~1)?]. If we can manage to find py and 7 such that the minimum value is
Po,™

zero, we are done. However, if we seek a numerical solution, there is no possibility we can get the
minimum value is 0 and we may be satisfied as long as the minimum value is sufficiently close to
0. To solve the optimal control problem numerically, we divide interval [0,7] by n intervals with
step size A = T'/n and gird points ¢ty = 0,t; = Aé,i = 1,...,n. Assume on subinterval [t;,t;11),
control m*(t;) = a(t;) + B(t;)\/Hs, is taken constant, where a( i) and B(t;) are piecewise constant
within each subinterval. Using Euler scheme, we have

th‘,+1 = Hf7 + k(C — Htl)A —+ 014/ Hti\/ZZti

Xt13+1 = Xt,', + Xt,' (T + ﬂ-ti(\/ Ht,', — ’I"))A + ﬂ-tiXtiO'\/ZZti
N He, — 1

+]§1 (ti)\/KZti

Pi(tiyr) = pi(ts) —rpi(t) A —
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For dual FBSDE, we can write it as following by theorem 2.5.2

dY (1) = Y (t){rdt + @

aw (t)}

Y
ialt) = rift) + aa() L Yt 4 o )W,

~ N 1

Po(T) =~ (Y3(T)) = Y (T) 7

satisfies the condition

Po(t)0x (0(t)) + G2 (t)o Lo (t) = 0,Vt € [0, T|P — a.s.

Same as before, we consider the optimal control problem min E[(p2(T") — Y(T)ﬁ)Q]. To solve the
Y0,92

optimal control problem numerically, we divide interval [0, T| by n intervals with step size A = T'/n
and gird points to = 0,¢; = Aé,i = 1,...,n. Assume on subinterval [¢;, ¢;11), control ¢2(t;) is taken
constant. Using Euler scheme, we have

Hy,., = Hy, + k(e — H,)A + o1\/Hi,VAZ,,

N/ Hy —
Vi, =Y — VirA - Y, Y2 TN g,
g

i1

Pa(tiv1) = pa(ts) + {rpa(t:) + (fz(fi)\/HiZ_r}A +Ga(t)VAZ,

1

with initial condition p(0) = x¢ and terminal condition py(T) = Y (T)7-1

For case 2, we set the parameters as r = 0.05,k = 1,¢ = 1,0 = 1,01 = 2,8 = 0.1,hy =
0.5,79 = 10,7 = 1,A = dt = 0.01 to match the condition 4kc = o?. By simulation method, we
have the optimal parameters a(t) and 5(t) as follows:

— adlphait}
betalt)

ok}
06
0.4

0z

00 M—__,—r-—““—“*‘—"—-'_“'—‘—‘———-_.__

00 02 04 06 08 10

Figure 3.4: Optimal «(t) and 8(t) from Primal FBSDE, dt=0.01

Using the formula 7*(t) = a(t) + B(t)y/H(t), optimal parameter ¢2(¢) and theorem 2.6.3, we can
get the optimal control processes from primal FBSDE and dual FBSDE.
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16 ——— Optimal pi from primal FESDE
Optimal pi from dual FESDE
14 . [\ /\ N
-'II'. A
/ ATA
12 ‘\ / N
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0.6 N, | o~
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/.
0z L
00 02 04 06 08 10

Figure 3.5: Optimal Pi from Primal FBSDE and Dual FBSDE,dt=0.01

Similarly, we have the two almost coincide lines. This is same as the result we get in stochastic
factor model 1.

The wealth processes from primal FBSDE and dual FBSDE are shown as following:

5
—— Wealth Process from primal FESDE
Wealth Process from dual FESDE
30
- /
235 |
g 0 I'/I.
15 J\J
rd
10 : e o,
0.0 0z 0.4 0.6 0.8 10

Figure 3.6: Wealth Processes from Primal FBSDE and Dual FBSDE dt=0.01

Same as before, we can get the almost same results from primal FBSDE and dual FBSDE.

3.4 Numerical Verification

In this section, we will use numerical and simulation methods to show that we can get the exact
same wealth process by primal HJB, dual HJB, primal FBSDE and dual FBSDE for Log Utility
function under Stochastic Factor Model 1 and Power Utility function under Stochastic
Factor Model 2: Case 2.

3.4.1 Log Utility function under Stochastic Factor Model 1

In this part, we consider the log utility function we have
dS(t) = H(t)S(t)dt + oS(t)dW (t)

dH(t) = k(c — H(t))dt + o /H(E)dW (¢)
AX™(t) = X™()[(r + 7 () (H(t) — r))dt + 7(t)ocdW (t)]

For primal method, using Euler scheme, we can get

Hy,,, = Hy, + k(c — Hy,)A + o1/H;,VAZ;,
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Xti+1 = Xti -+ Xt,; (T’ -+ T, (Htl — ?"))A -+ ﬂ-tiXtio—\/EZti
Ht- —-Tr
* t; — i
w (1) =
For dual method, we know that
o _OVEYm) _ 1
aY (t) Y(t)

By using Euler scheme, we can get

Hy,,, = Hy, + k(e — Hy,)A + o1\/H, VAZ,,

H, —
Yo =Y, — YirA =Y, S VAZy,
g

We set the same parameters as before in the FBSDE methods and by simulation method, we can
get the wealth processes from primal HJB and dual HJB as following;:

—— Wealth Process from primal HJB
Wealth Process from dual HJB
10 4
25 4
£
E 20
=
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Figure 3.7: Wealth Processes from Primal and Dual HJB, dt=0.01

We plot wealth processes and optimal control processes from four methods in one figure to compare
the results.

—— Wealth Process from primal HJB
Wealth Process from dual HJB

30 1 ——— Wealth Process from primal FESDE

—— Wealth Process from dual FESDE
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Figure 3.8: Wealth Processes from Four Methods, dt=0.01
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—— Optimal pi from primal H)B
Optimal pi from dual HJB

11 —— Optimal pi from primal FBSDE

—— Optimal pi from dual FESDE
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Figure 3.9: Optimal Pi from Four Methods ,dt=0.01

From figure 3.8 and 3.9, we can see that four wealth processes have same trend all the time and
slightly difference. As time increase, the difference in values of four wealth processes becomes
larger. In addition, the optimal control processes from four methods are almost the same. Then
We calculate the mean square error of wealth process from other three methods in comparison to
the primal HJB. We have the mean square errors are 0.14153 for dual HJB, 0.02870 for primal
FBSDE and 0.02742 for dual FBSDE. MSEs are too small compared with the values of wealth
process. Thus we can consider the wealth processes from these four methods to be the same.

Then we use different time step size to see the effect of time step size. Other parameters won'’t be
changed. We have the wealth processes and optimal control processes for dt = 0.02 and dt = 0.05
and we also calculate the MSEs for dt = 0.02 and dt = 0.05.

Method MSE dt = 0.01 | MSE dt = 0.02 | MSE dt = 0.05
Primal HJB 0 0 0
Dual HJB 0.14153 1.01434 3.49741
Primal FBSDE 0.02870 0.25264 3.48545
Dual FBSDE 0.02742 0.19643 1.03490

Table 3.1: Mean Square Error
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Figure 3.10: Wealth Processes from Four Methods, dt=0.02
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Figure 3.11: Optimal Pi from Four Methods, dt=0.02

—— Wealth Process from primal HJB
Wealth Process from dual HJB
—— Wealth Process from primal FESDE
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Figure 3.12: Wealth Processes from Four Methods, dt=0.05

—— Optimal pi from primal H)B
Optimal pi from dual HJg
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As can be seen in figure 3.8, 3.10 and 3.12, the simulation results become worse from four methods
as the time step size become larger. From ¢ = 0 to t = 0.5, difference among four methods is slight.
But from ¢t = 0.5 to t = 1, the difference among these wealth processes can be seen obviously. The
reason is that as time step size become larger, the simulation results become worse and error could
be accumulated as t increases. In addition, we know that as time step size increases, the error

0o 0z 04 06 k]

Figure 3.13: Optimal Pi from Four Methods, dt=0.05

becomes larger from table 3.1.
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3.4.2 Power utility function under Stochastic Factor Model 2: Case 2

In this part, we consider the power utility function we have
dS(t) = \/H(t)S(t)dt + o S(t)dW (t)

dH (t) = k(c— H(t))dt + o1/ H(t)dW (1)
dX™(t) = X" (t)[(r + 7(t)(\/ H(t) — r))dt + w(t)odW (t)]
For primal method, using Euler scheme, we can get

Ht11+1 = Hti, + k(C - Htl)A + o014/ Hti\/ZZti

Xti+1 = Xti + Xti (T + 7Tt1’(\/ Hti — ’I"))A =+ ﬂ—tiXtia-\/KZti
(Vh —r) +001(3B(t) + C(t)Vh)

* 1) = —
T (t) 223 1)
For dual method, we know that R R
) 8V(t: ()
aY (t)

We have already known that V (t,y, h) = %yﬁ% exp A(t) + B(t)Vh + C(t)h, by taking derivative
of V with respect to y and setting it to be 0, we get §(t) = 27~ exp A(t) + B(t)v'h + C’(t)hliﬁ7
and thus §(0) = 2%~ exp A(0) + B(0)v/h + C(O)hl_ﬁ.

So we have
X(t) = Y (6) 77 exp (A(t) + B/ + C(H)Hy)

dY (1) = —Y (1) {rdt + @dW(t)}

By using Euler scheme, we can get

Hti+1 = Hti + k(C - th)A + 01 \/Hti\/ZZti

v H, —
}/ti+l = Y;51 - )/t'irA - )/tl# v AZti
(oa

We set the same parameters as befor to match the condition %kc— %O’% = 0. We first use numerical

method to find A(t), B(t) and C(t) for primal HJB and dual HJB. Then we use simulation method
to get the wealth processes. The results are shown below:

35 —— Wealth Process from primal HJB
Wealth Process from dual HJB
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Figure 3.14: Wealth Processes from Primal and Dual HJB, dt=0.01

Then we plot wealth processes and optimal control processes from four methods in one figure to
compare the results.
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Figure 3.15: Wealth Processes from Four Methods, dt=0.01

—— Optimal pi from primal HJB

Optimal pi from dual HJB
—— Optimal pi from primal FESDE
—— Optimal pi from dual FESDE
g ¥y

We also calculate the mean square error of wealth process from other three methods in comparison
to the primal HJB. They are 5.55117, 0.25668 and 0.22774 separately for dual HJB, primal FBSDE
We can get the same result that four methods will have the exact same solution
for utility maximization problem. There will the same effect of time step size that as the time step

and dual FBSDE.

size increases, the

By numerical verification in two stochastic factor models and different utility functions, we have
proved that we have the exact same wealth process by primal HJB, dual HJB, primal FBSDE and
dual FBSDE, which means we can get same solution for utility maximization problem by these

four methods.

0o 0z 0.4 0n& 0a 1a

Figure 3.16: Optimal Pi from Four Methods ,dt=0.01

error becomes larger.
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Chapter 4

Conclusion

In this paper, we study the utility maximization problem under different models using four ap-
proaches. Under the simple assumption model, we can get the closed formula solution for this
problem with power utility function and non-HARA utility function by dual HJB and FBSDE. It
is clear that different methods have the exact same solution for the utility maximization problem.
However, we can not find the closed formula solution under complex models such as stochastic
factor models. In this case, we use numerical method to plot the wealth processes and optimal
control processes in one graph from primal HJB, dual HJB,primal FBSDE and dual FBSDE and
then compare the results. We also calculate the mean square error from other three methods in
comparison to the primal HJB. We can conclude that the wealth processes from these four methods
to be the same. Thus we can conclude that all the four methods can get the exact same solution
for the utility maximization problem given in this paper.

For further reseach, we can consider the utility maximization problem under constrained to find
whether we can get the same solution by primal HJB, dual HJB, primal FBSDE and dual FBSDE.
In addition, we use the BSDEs representation to provide a solution to the semilinear PDE. Can
we solve the BSDEs directly or we need to find a numerical solution to the BSDEs. It is also a
problem that we can consider in the future.
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